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1. The gradient of one of the straight lines of ax2 + 2hxy + by2 = 0 is twice 

that of the other then  

যদিax2 + 2hxy + by2 = 0 যুগ্মসরলররখার একটি সরলররখার আনদি অপরটির 
দিগুণ হয় িাহরল 

2. Angles between the pair of straight line 

5x2 + 26xy + 5y2 + 7x + 11y + 2 = 0 are  

 নিম্ননিনিত যুগ্মসরি ররিার আন্তরুভু্ ক্ত রেগে সকি হি  

   5x2 + 26xy + 5y2 + 7x + 11y + 2 = 0 

3. The nature of the conic represented by 

 4x2 − 4xy + y2 − 12x + 6y + 9 = 0 is  

 4x2 − 4xy + y2 − 12x + 6y + 9 = 0  সমীকরণদ্বারানিগদভ নিতকনিকটিরপ্রকৃনতহি 

4. The centre of the conic 7x2 − 2xy + 7y2 + 22x − 10y + 7 = 0 is  

7x2 − 2xy + 7y2 + 22x − 10y + 7 = 0 কদনকটির ককন্দ্র হল 

 

5. The equation of the common tangent to the two  hyperbolas 
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= −1পরাবতৃ্ত িুটির সাধারাণ স্পর্ শকগুদল রসমীকরণ হল 

 

6. The equation of the circle which passes through the point (4,– 2) and 

touches the straight line 3x + 4y − 36 = 0 at (4,6) is  

4,–2) দবন্দগুামীএবং3x + 4y − 36 = 0 সরলররখারক (4,6) দবন্দরুি স্পর্ শ করর 
এইরূরপ বরৃত্তর সমীকরণ হল 

 

7. The condition of the straight line 
1

r
= A cos θ + B sin θ to be the tangent to 

the circle r = 2a cos θ is  

 



1

r
= A cos θ + B sin θ সরিগরিাটি r = 2a cos θ েৃত্তগক স্পিভ করগে যনদ 

 

8. If r1 and r2 be two mutually perpendicular radius vectors of the ellipse r2 =
b2

1−e2 cos2 θ
 , then  

যদিr2 =
b2

1−e2 cos2 θ
উপবরৃত্তর r1 এবং r2 পরস্পর লম্ব িুরক (Radius Vectors) হয় 

িাহরল 

 

9. The angle between a pair of straight lines whose direction cosines are given 

by 3lm − 4ln + mn = 0 and 2m + 3n = 0 is  

িুইটি সরলররখার অন্তগ শি ককাণ কি হরব কযখারন সরলররখা িুইটির দিগদনরিশর্ক 

ককাসাইনগুদল 3lm − 4ln + mn = 0এবং2m + 3n = 0. িারা সম্পকশযুক্ত 

 

10. Find the equation of a plane which passes through the points (1,1,2) and 

(2,4,3) and perpendicular to the plane x − 3y + 7z + 5 = 0.  

(1,1,2) ও (2,4,3) দবন্দগুামী সমিরলর সমীকরণ দক হরব যদি উক্ত সমিল  

 x − 3y + 7z + 5 = 0.সমিরলর সারে লম্বভারব আবস্থান করর ? 

 

11. The equation of a plane passing through the  three points (1,1,1), (2,– 1,1) 

and ( 3, 1, 2 ) is   

(1,1,1), (2,–1,1)এবং(3,1,2)-এইদিনদবন্দগুামীসমিলটিরসমীকরণহরব 

 

12. If the straight lines 
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 and 4x − 3y + 1 = 0 = 5x − 3z + 2 

are coplanar then the equation of the plane is  
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 সরলররখাটি এবং  

4x − 3y + 1 = 0 = 5x − 3z + 2 সমিলটি একিলীয় হয় িাহরল  ঐ িলটির 

সমীকরণ  হবে । 

 

13. Find the equation to the plane containing the straight line 
y

b
+
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c
= 1, x = 0 

and parallel to the straight line 
x

a
−

z

c
= 1, y = 0 and if 2d be the shortest 

distance between the lines. 



একটি সমিরলর সমীকরণ দনণ শয় করুন যা 
y

b
+

z

c
= 1, x = 0 সরলররখাটি কক 

ধারণ করর এবং 
x

a
−

z

c
= 1, y = 0 সরলররখাটির সরে সমান্তরাল এেং 

সরলররখা িুইটির সেভ দনম্নিরূত্ব 2d হয় 

 

14. The centre and radius of the circle 

 x2 + y2 + z2 − 2y − 4z − 11 = 0, x + 2y + 2z = 15 are  

x2 + y2 + z2 − 2y − 4z − 11 = 0, x + 2y + 2z = 15 বতৃ্তটির ককন্দ্র ও 

বযাসাধ শ হরব 

 

15. The equation of a sphere passing through the points (1,0,0), (0,1,0), (0,0,1) 

and touches the plane 2x + 2y − 2 = 15 is 

কয কগালকটি (1,0,0), (0,1,0), (0,0,1)দবন্দগুামীএবংযা2x + 2y − 2 = 15 

সমিলটিরক স্পর্ শ করর িার সমীকরণ হরব 

 


